Math 1050 A2.4 Average Rate of Change

Name

1. Find the average rate of change from 3 to 8
minutes.
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What does it represent?

2. Find the average rate of change from 40 to 90
seconds
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What does it represent?

3. Find the average rate of change from 1 to 3
seconds.

L
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What does it represent?

4. Find the average rate of change between x = 1
and x = 5.

g =5 + 3

5. Find the average rate of change between z = -2
andz=0.

g(x)=1-32?

6. Find the average rate of change between x =0
and x = 10.

f(x) = x> —4x?

7. Find the average rate of change between x = 2
and x = 2+ h.

g(x) = 3x?

8. Find the average rate of change between x = 1
and x = 1+h.

fo)=4 -




9. Find the average rate of change between x =1 | 10. Find the average rate of change between x = 0

and x = a. and x = h.

gx)=1 gx) = %

1. Changing water levels ', Population Growth and Decline  The table gives the pop-

ulation in a small coastal community for the period
1997-2006. Figures shown are for January 1in each year.
(a) What was the average rate of change of population
between 1998 and 2001? .
(b) What was the average rate of change of population
between 2002 and 2004? 58 j
(¢) For what period of time was the population mcreasl.ng‘l
(d) For what period of time was the p_c‘vpul'minn decreasing? .
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Equation of the piecewise:
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15.
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Is the above graph a function? Yes/No
Is the above graph one-to-one? Yes/No
What is f(-2)?

What x values is f(x)=-3007?

What is the Domain?

What is the Range?

Interval(s) of Increasing?

Interval(s) of Decreasing?

Local Maximum(s)=

Local Minimum(s)=

16. Evaluate the function at the given values.
— 1=

gx) =13

gr—1)=

17. Find the Domain:
f)=\x2—2x—38

18. Graph the function by making a T-table.
fx)=—x>+2x+3
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